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>>pecause on each side of the equal symbol you need to perform the same operation
to keep the equation balanced, which means you haven't altered the equation,

>>>s0 what you do to one side you have to do the other side

>>>>>the reason why you divide 19.20 by 9.6 is because to isolate t you divide by 9.6,
which means the coefficient for tis 1.
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>>the reason why we chose to divide by 9.6 is because division is the opposite of

multiplication and the equation starts with 9.6 times t.

>>>>and to isolate the unknown variable we need to perform the opposite operations that
appear in the equation
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